# MAINE STATE LEGISLATURE

The following document is provided by the

LAW AND LEGISLATIVE DIGITAL LIBRARY

at the Maine State Law and Legislative Reference Library

http://legislature.maine.gov/lawlib



Reproduced from scanned originals with text recognition applied (searchable text may contain some errors and/or omissions)

#### ONE HUNDRED AND FIFTH LEGISLATURE

### Legislative Document

No. 1843

S. P. 642 In Senate June 14, 1971 Reported by Report A from Committee on Constitutional State Reapportionment and Congressional Redistricting and printed under Joint Rules No. 18.

HARRY N. STARBRANCH, Secretary

### STATE OF MAINE

## IN THE YEAR OF OUR LORD NINETEEN HUNDRED SEVENTY-ONE

RESOLVE, to Apportion One Hundred and Fifty-One Representatives Among the Several Counties, Cities, Towns, Plantations and Unorganized Territory of the State.

Apportionment of Representatives to the Legislature. Whereas, in accordance with Article IV, Part 1, Sections 2 and 3 of the Constitution of Maine, the Legislature has ascertained the number of inhabitants of the State to be 993,663; now, therefore, be it

Resolved: That for the 106th Legislature to and including 1982:

Androscoggin. The County of Androscoggin, having a population of 91,279, shall choose 14 Representatives; and the unit base number for said county being 6,520, said Representatives shall be apportioned as follows:

Municipality	Population	No. of Representatives	Remainder
Lewiston	41,779	6	2,659
Auburn	24,151	3	4,591
Lisbon	6,544	· <b>I</b>	24
Durham, Mechanic Falls, Minot and Poland	6,391	I	
Greene, Webster, Turner and Wales	6,323	I	******
Leeds, Livermore and Livermore Falls	6,091	1	

The remaining unallocated county Representative is allocated to Auburn, it having the largest fraction remaining after the allocation of Representatives computed by dividing the unit base number into the total number of inhabitants.

**Aroostook.** The County of Aroostook, having a population of 94,078, shall choose 14 Representatives, and the unit base number for said county being 6.719, said Representatives shall be apportioned as follows:

Municipality	Population	No. of Representatives	Remainder
Presque Isle	11,452	I	4,732
Caribou	10,419	I	3,700
Limestone	10,360	I	3,641
Houlton	8,111	I	1,392
Easton and Fort Fairfield	6,164	I	
Madawaska and Frenchville	6,960	1	141
Hersey, Dyer Brook, Oakfield, Linneus, Hodgdon and all mu- nicipalities, plantations and un- organized territory in said County to the South of these	6,389	I	
Portage Lake, Nashville Plt., Garfield Plt., T. 10, R. 6, Oxbow Plt., Masardis, T. 11, R. 4, T. 10, R. 3, E. Plt., Blaine, Cox Patent, Bridgewater, T. D., R. 2, T. 9, R. 3, T. 9, R. 4, T. 9, R. 5, T. 8, R. 5, T. 8, R. 4, T. 8, R. 3, T. C., R. 2, T. 7, R. 5, T. 7, R. 4, T. 7. R. 3, Monticello, Littleton, Hammond Plt., Ludlow, New Limerick, Smyrna, Merrill and Moro Plt.	6,258	I	
Stockholm, Cyr Plt., Hamlin Plt., Westmanland Plt., New Sweden, Connor Twp., Caswell Plt., Perham, Woodland, Wade, Washburn, T. 17, R. 5, T. 17, R. 4, T. 17, R. 3, T. 16, R. 6, T. 16, R. 5, T. 16, R. 4, T. 15, R. 6, T. 15, R. 5, T. 14, R. 6, T. 14, R. 5 and T. 13, R. 5	6,682	Γ	
Van Buren, Grand Isle, St. Agatha, New Canada Plt., Eagle	-,	<u>-</u>	

Lake, Winterville Plt., T. 16, R. 9, T. 16, R. 8, T. 15, R. 9, T. 15, R. 8, T. 14, R. 9, T. 14, R. 8, T. 14, R. 7, T. 13, R. 9, T. 13, R. 8, T. 13, R. 7, T. 12, R. 9, T. 12, R. 8, T. 12, R. 7, T. 11, R. 9, T. 11, R. 8, T. 11, R. 7, T. 10, R. 8, T. 10, R. 7, T. 9, R. 8 and T. 9, R. 7	7,008	I	289
Fort Kent, Allagash Plt., St. John Plt., St. Francis, Allagash Plt. and all other unorganized territory in said County to the West, North and South of these not included in any other Representative district within said County	6,836	I	117
Mars Hill, Westfield, Chapman,	. 0		
Mapleton, Castle Hill, Ashland	6,598	1	

The remaining 2 unallocated county Representatives are allocated to Caribou (one Representative) and to Presque Isle (one Representative), they having the largest fractions remaining after the allocation of Representatives computed by dividing the unit base number into the number of inhabitants.

Cumberland. The County of Cumberland, having a population of 192,528, shall choose 29 Representatives; and the unit base number for said county being 6,639, said Representatives shall be apportioned as follows:

Municipality	Population	No. of Representatives	Remainder
Portland	65,116	9	5,365
South Portland	23,267	3	3,350
Westbrook	14,444	2	1,116
Brunswick	16,195	2	2,917
Cape Elizabeth	7,783	I	1,234
Gorham	7,839	I	1,200
Scarboro	7,845	I	1,206
Falmouth	6,291	I	
Windham	6,593	I	
Freeport and Pownal	5,581	I	_
Yarmouth and North Yarmouth	6,237	I	
Cumberland and Harpswell	6,648	I	9
Gray and New Gloucester	5,750	I	

Bridgton, Harrison, Baldwin,			
Naples and Sebago	6,554	I	
Casco, Raymond, Standish, Otisfield	6.205	Ţ	

The remaining 2 unallocated county Representatives are allocated to Portland (one Representative) and to South Portland (one Representative), they having the largest fractions remaining after the allocation of Representatives computed by dividing the unit base number into the total number of inhabitants.

Franklin. The County of Franklin, having a population of 22,444, shall choose 3 Representatives; and the unit base number for said county being 7,481, said Representatives shall be apportioned as follows:

Municipality	Population	No. of Representatives	Remainder
Farmington, New Sharon, Temple and Chesterville	7,392	I	
Jay and Wilton	7,756	I	****
Carthage, Weld, Avon, Strong, New Vineyard, Industry, Washington Twp., Perkins Twp., Freeman Twp., Kingfield, Salem Twp. Phillips, Twp. No. 6, Twp. D., Twp. E, Rangeley Plt., Sandy River Plt., Madrid, T. 4, R. 1, T. 3, R. 2, Sugarloaf Twp., T. 1, R. 2, Dallas Plt., Rangeley, T. 3, R. 3, T. 2, R. 3, Coplin Plt., T. 4, R. 3, Eustis, T. 2, R. 4, T. 3, R. 4, T. 3, R. 5, T. 2, R. 5, T. 1, R. 5, T. 3, R. 6, T. 2, R. 6, T. 1, R. 6, T. 2, R. 7, Coburn Gore, T. 1, R. 7, T. 2, R. 8, T. 1, R. 7, T. 2, R. 8, T. 1, R. 7, T. 2, R. 8, T. 1, R. 6	o 7,296	I	

Hancock. The County of Hancock, having a population of 34,590, shall choose 5 Representatives; and the unit base number for said county being 6,918, said Representatives shall be apportioned as follows:

Municipality	Population	No. of Representatives	Remainder
Brooklin, Brooksville, Castine,			
Deer Isle, Sedgwick, Stoning-			
ton, Swan's Island, Long Island			
Plt., Tremont and Cranberry	_		
Isles	6,999	I	81
Bucksport, Orland, Dedham,			
Penobscot, Verona and Otis	6,931	I	13

Blue Hill, Ellsworth, Surry and Trenton	6,985	I	67
Bar Harbor, Mt. Desert and Southwest Harbor	7,032	I	114
Amherst, Aurora, Eastbrook, Franklin, Great Pond Plt., Gouldsboro, Hancock, Lamoine, Mariaville, No. 33 Plt., Osborne Plt., Sorrento, Sullivan, Waltham, Winter Harbor, T. 32, M. D., T. 8, S. D. and all unorganized territory in said County to			
the East of these	6,643	I	

Kennebec. The County of Kennebec, having a population of 95,247, shall choose 14 Representatives; and the unit base number for said county being 6,803, said Representatives shall be apportioned as follows:

		No. of	
Municipality	Population	Representatives	Remainder
Augusta	21,945	3	1,536
Waterville	18,192	2	4,586
Winslow	7,299	I	496
Gardiner	6,685	I	
Albion, Benton, Clinton, Unity Plt. and China	6,651	I	
Windsor, Chelsea, Randolph and Pittston	6,550	I	
Vassalboro, Sidney and Oakland	7,472	I	939
Belgrade, Readfield and Winthrop	6,895	I	92
Hallowell, Farmingdale and Manchester	6,568	I	
Mount Vernon, Fayette, Wayne, Monmouth, Litchfield, Vienna, Rome and West Gardiner	6,990	I	<i>2</i> 05
	.,,,		J

The remaining unallocated County Representative is allocated to Waterville, it having the largest fraction remaining after the allocation of Representatives computed by dividing the unit base number into the total number of inhabitants.

Knox. The County of Knox, having a population of 29,013, shall choose 4 Representatives; and the unit base number for said county being 7,253, said Representatives shall be apportioned as follows:

Municipality	Population	No. of Representatives	Remainder
Rockland	8,505	I	1,252
Camden, Rockport and Hope	6,682	I	
Cushing, Friendship, Isle Au Haut, Matinicus Isle Plt., North Haven, Owls Head, St. George, South Thomaston and Vinal- haven	6,776	I	
Appleton, Thomaston, Union, Warren and Washington	7,050	I	

Lincoln. The County of Lincoln, having a population of 20,537, shall choose 3 Representatives; and the unit base number for said county being 6,846, said Representatives shall be apportioned as follows:

Municipality	Population	No. of Representatives	Remainder
Jefferson, Nobleboro, Monhegan Plt., Somerville Plt., Waldoboro and Whitefield	6,628	I	
Boothbay, Boothbay Harbor, Southport, Westport and Wis- casset	7,079	I	233
Alna, Bremen, Bristol, Damari- scotta, Dresden, Edgecomb, Newcastle and South Bristol	6,830	I	_

**Oxford.** The County of Oxford, having a population of 43,457, shall choose 7 Representatives; and the unit base number for said county being 6,208, said Representatives shall be apportioned as follows:

Municipality	Population	No. of Representatives	Remainder
Mexico, Peru and Roxbury	5,925	I	
Rumford	9,363	I	3,155
Paris, West Paris and Woodstock	5,915	I	
Dixfield, Canton, Buckfield, Hartford, Sumner and Hebron	5,228	I	
Norway and Oxford	5,487	I	
Porter, Hiram, Brownfield, Denmark, Fryeburg, Lovell and Sweden	5,601	r	
Paris, West Paris and Woodstock Dixfield, Canton, Buckfield, Hartford, Sumner and Hebron Norway and Oxford Porter, Hiram, Brownfield, Denmark, Fryeburg, Lovell and	5,915 5,228 5,487	I	3,155

Andover, Bethel, Byron, Waterford, Stow, Stoneham, Albany Twp., Greenwood, Milton Twp., Mason Twp., Batchelder's Grant, Gilead, Hanover, Newry, Riley T. A. No. 1, Grafton T. A. No. 2, Andover West Surplus, Andover North Surplus, Upton, C Surplus Twp., C Twp., Magalloway Plt., T. 4, R. 1, Lincoln Plt., T. 4, R. 2, T. 5, R. 3, T. 4, R. 3, T. 5, R. 4, T. 4, R. 4, T. 5, R. 5, T. 4, R. 5 and T. 4, R. 6

5,938

Ι

Penobscot. The County of Penobscot, having a population of 125,393, shall choose 19 Representatives; and the unit base number for said county being 6,600, said Representatives shall be apportioned as follows:

Municipality	Population	No. of Representatives	Remainder
Bangor	33,168	5	168
Orono	9,989	I	3,389
Brewer	9,300	I	2,700
Old Town	9,057	I	2,457
Millinocket	7,742	I	1,142
Lincoln, Winn, Chester, Woodville, Lee and Webster Plt.	6,247	ĭ	_
Garland, Charleston, Bradford, Alton, Corinth, Milford, Bradley and Argyle Twp.	6,619	I	19
Orrington, Holden, Eddington and Clifton	6,134	I	
Newport, Stetson, Levant, Kenduskeag, Glenburn and Hudson	5,868	I	_
Hampden and Veazie	6,249	I	
Plymouth, Dixmont, Etna, Carmel, Newburgh and Hermon	6,139	I	*****
Mattawamkeag, Kingman Twp., Drew Plt., Prentiss Plt., Carroll Plt., Lakeville Plt., Burlington, Lowell, Greenfield, Grand Falls, Passadumkeag, Enfield, How- land, T. 5, R. 1, Indian Island			

Voting District, Edinburg, Lagrange, Greenbush, T. 3, R. 1, T. 1, R. 7 (Mattamiscontis), Seboeis Plt., Maxfield and Springfield	6,550	I	
Dexter, Corinna and Exeter	6,088	I	
East Millinocket, Medway, T. A., R. 7, Hopkins Academy Grant, T. A., R. 8, and R. 9, T. 3, R. 9, T. 2, R. 9, T. 2, R. 8 and all municipalities, plantations and unorganized territory in said County to the North of these and not included within any other Representative district in			
said County	6,243	I	

The remaining unallocated County Representative is allocated to Brewer, notwithstanding Orono having the largest fraction remaining after the allocation of Representatives computed by dividing the unit base number into the total number of inhabitants, the Legislature finding that the Orono census population figures include numbers of students at the University of Maine whose legal residence is other than Orono.

Piscataquis. The County of Piscataquis, having a population of 16,285, shall choose 3 Representatives; and the unit base number for said county being 5,422, said Representatives shall be apportioned as follows:

Municipality	Population	No. of Representatives	Remainder
Dover-Foxcroft and Sangerville	5,285	I	
Milo, Atkinson, Sebec, Barnard Plt., Bowerbank, Brownville, Willimantic, Lakeview Plt., Elliottsville Plt., T. 6, R. 8, Orneville Twp. and Medford			
Twp. Wellington, Parkman, Kingbury Plt., Abbott, Guilford, Blanch- ard Plt., Monson, Shirley, T. 3,	5,123	I .	_
R. 5, Greenville, T. 8, R. 10, T. 7, R. 10, T. 7, R. 9, T. 6, R. 9, T. 5, R. 9, N. W. P., T. 4, R. 9,			
N. W. P. and all other municipalities, plantations and unorganized territory within said County North of these and not included within any other Rep-			

resentatives district in said County 5,877 I 449

Sagadahoc. The County of Sagadahoc, having a population of 23,452, shall choose 4 Representatives; and the unit base number for said county being 5,863, said Representatives shall be apportioned as follows:

Municipality	Population	No. of Representatives	Remainder
Bath	9,769	2	_
Topsham, Bowdoin and Bowdoinham	7,174	I	_
Arrowsic, Georgetown, Perkins Twp., Phippsburg, Richmond, West Bath and Woolwich	6,599	I	_

Somerset. The County of Somerset, having a population of 40,597, shall choose 6 Representatives; and the unit base number for said county being 6,766, said Representatives shall be apportioned as follows:

Municipality	Population	No. of Representatives	Remainder
Skowhegan	7,601	I	835
Fairfield, Smithfield and Mercer	6,524	I	
Pittsfield, Hartland and Canaan	6,592	I	
Cornville, Madison and Norridge- wock	6,865	I	_
Palmyra, St. Albans, Ripley, Cambridge, Harmony, Athens, Detroit, Brighton Plt., Bingham and Moscow	6,516	I	
Starks, Anson, New Portland, Solon, Embden, T. 2, R. 1, Concord Twp., Highland Plt., Pleasant Ridge Plt., T. 2, R. 2 and all other municipalities, plantations and unorganized territory in said county to the North of these and not included within any other Representative dis-		,	
trict in said county	6,499	1	

Waldo. The County of Waldo, having a population of 23,328, shall choose 4 Representatives; and the unit base number for said county being 5,832, said Representatives shall be apportioned as follows:

Municipality	Population	No. of Representatives	Remainder
Belfast	5,957	I	125
Burnham, Freedom, Liberty, Lin- colnville, Montville, Palermo, Searsmont and Unity	5,624	I	
Belmont, Brooks, Frankfort, Jackson, Knox, Monroe, Morrill, Northport, Swanville, Thorndike, Troy and Waldo	5,912	I	80
Isleboro, Prospect, Searsport, Stockton Springs and Winter- port	5,835	, I	3

Washington. The County of Washington, having a population of 29,859, shall choose 5 Representatives; and the unit base number for said county being 5,972, said Representatives shall be apportioned as follows:

Municipality	Population	No. of Representatives	Remainder
Addison, Beals, Beddington, Centerville, Cherryfield, Columbia, Columbia Falls, Deblois, Harrington, Milbridge, Northfield, Steuben, Wesley and Whitneyville	. ~	I	Remainder
Jonesport, Jonesboro, Roque Bluffs, Machias, Machiasport and Marshfield	5,533 5,482	I	
Lubec, Trescott Twp., Cutler, Whiting, East Machias, Marion Twp., Edmonds Twp., Dennysville, Pembroke, Meddybemps, Charlotte, No. 14 Plt., T. 18, E. D., T. 19, E. D. Cooper, Crawford and No. 21 Plt.	5,888	I	
Calais and Baileyville	6,211	. I	
Eastport, Perry, Baring Twp., Robbinston, Alexander, Princeton, T. 18, M. D., T. 19, M. D., T. 24, M. D., T. 25, M. D., T. 29, M. D., T. 30, M. D., T. 31, M. D., T. 36, M. D., T. 37, M. D., T. 26, E. D., T. 42, M. D., T. 43, M. D., T. 27, E. D., and all municipal-			

ities, plantations and unorgan-

ized territory in said county to the North of these and not included within any other Representative district in said county

6,745 I 873

York. The County of York, having a population of 111,576, shall choose 17 Representatives; and the unit base number for said county being 6,563, said Representatives shall be apportioned as follows:

Municipality	Population	No. of Representatives	Remainder
Biddeford	19,983	3	294
Kittery	11,028	I	4,465
Saco	11,678	I	5,115
Sanford	15,812	2	2,686
Kennebunk	5,646	I	
Old Orchard Beach	5,404	I	<del></del>
York	5,690	I	
Eliot and South Berwick	6,985	I	422
Dayton, Buxton and Hollis	5,241	I	
Berwick, Lebanon and Acton	5,816	6	
Kennebunkport, Arundel, Alfred and Lyman	5,557	I	-
Wells and North Berwick	6,672	I	89
Parsonsfield, Newfield, Shapleigh, Cornish, Limerick, Limington and Waterboro	6,064	I	

The remaining unallocated County Representative is allocated to Saco, it having the largest fraction remaining after the allocation of Representatives computed by dividing the unit base number into the total number of inhabitants.